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  N is sp; Os are sp2; linear 
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  B is sp2; trigonal planar 
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 central N is sp; flanking Ns are sp2; linear 
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C and N are sp2; planar 
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4a CH3S– + H2O      eq. to the right 
 
4b (CH3)3CC≡C– + (CH3)2NH    eq. to the right 
 
4c (CH3)3CC≡C– + (CH3)3COH    eq. to the left 
 
4d Cl– + CH4      eq. to the right 
 
 
5 

 

N

O

OH

H3C

CO2H

S

NH2

alcohol

amide

carboxylic acid

alkene

thioether
(sulfide)

amine

 



C H  2 0 3  •  F A L L  2 0 1 0  •  S A M P L E  E X A M I N A T I O N  1  A N S W E R S  •  3  

 
6a 1,1,1-trifluoro-2-methylbutane 
6b 4-ethyl-1,2-dimethyl-6-(2-methylpropyl)cycloheptane 
 or 4-ethyl-6-isobutyl-1,2-dimethylcycloheptane 
6c 1-bromo-2,3,5-trimethylheptane 
6d cis-1-methyl-4-(1-methylethyl)cyclohexane 
 or cis-1-isopropyl-4-methylcyclohexane 
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Estrain = 3.6 kcal/mol
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least stable
Estrain = 6.6 kcal/mol
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Estrain = 4.5 kcal/mol Estrain = 2.7 kcal/mol
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